0.8

0

1

2

3

4

5

6

7

rrrrrreTy

9

10

LB

(T[T T

LB

IBERRERERIEE]

IR ERE RN

IBBBRERLEEER

NERERRRRR

TTryyrrvyy

rryyyrvrryy

BB R ARERE

LI L

Feld[T]

OTTITIT
R
sininannbi
S N
ikntnEEERs
T e 1
+ A A R
I_Iﬂ NRERRRRRRRERRRE

ERARRNREI
1 L
P H
ENENRNJNI
- H H H

DI T
IR ANANA R
I R
T T LI I
FH I H
axaninind axhnRatnnsERnnNaabs
LI P P et
I A R
T T T T T T T

Amuu|EHJLuumL

TITITIIT
L
1
RN
b 14 H
Wmﬁﬁ
[LTIT]
[
I

LLIiLJL
’ H

EERERNRRANERRRERERRY
NERRRURNRY EANANANRNT
T T P
OO OO
el R H R
uiRaRadany haai
(LT

I H TR
T T T T

ERR ENTRURENID
|ifi|||||

HRERNRRN|
HAH
nERRRRER]

TITTT T,
IILl L] LA
SEnn Nk
r|L|J_|i|
I H
BEARRARERAD

|

|

aiaiin
LT
|

|

!

!

e
FIH
TTITII
Al
T P ITL

0.7

— —F

L]
o i

.WH’ITT
LTI TT
H - H
ITITITT
L i

0.6

— ==

o

0.5

I i Bt B P |
TITITTT
1
EARARARARRN
CORLP L L L LTy
1
I e T

0 I
]——H—LH—H—L
FEEr

IHIIIIH_

HH
TITITITT
NI
ahnininnheindncr
BRI ERRERA
—HHHFH A

I.'IIIIIiIirIIiI
T ]
ISEYNNNRRN
[H
PLELEELT]
L -
AT
INNERN I
A R R
IARRRRRNRR RANRRRANRY ANRE
| ERRENARAR) RENNNNNAN
I
HRARRRRRER
R
I

I O
T T
NEERENENAEANANNNN Y
ARRNARARRRNARNRNARS
T IO
H e e e e e

T it g IT* BRARRS

T
=+ F—5 =

1
=

¥
IO

0.4

AENERENEND
1
*Iﬁlll‘ﬁ
| [IILl ]

—

=T

LTI

VLT LTl
H A - -

0.3

0.2

L I

ot

0.1

L e e o e e e o
HWHH,-HH' HMHHHHHHHHHM—HMHH+MHHM
: ﬂg@qumrwmﬁﬁw LT DT T T T T T T T T
oo doooomoo oo oo mo o mdd
O % 2 O A e e e B e e e e e B B
DDA T T L T T Ty O T T LT TV T COED T CT I T T[T 7T T
L L L T e e e b 1l ] bk e et b e b e e e ) R e L ) e i
silnshniuintantaininnbnininnbnintindbnin inibnbnintnnbniniziiainindknisindsnhniniunnRntntnt
LT LT O O T T L T T T T T O T O L T T T T O O L L T T L [T T T
o B B I R P K Y 6
inisasniniatanniatnninininahnininginki CEEEE T [ e e e e o e e e e
iﬁﬁmrﬁmﬂﬁuuﬁu.uuulHmﬁﬁTmuﬂurﬁmTﬂmﬂﬂuu“u
2 3 4 5) 6 7 8 9 10
Pot. Skt




